ﬁf,& ' _Exerclse TA__ -

- Fillin to show that multiplication is repeated addition.
8 6+6+6+6+6=_30_

x 6 450,

2+24+242=

%3

3x9=_o ]
9+9 11

—
—

20 =

I

Multiply. |
258t | [z-a1]  [ExEmea].

M—"Z ‘
4=3237 |

8 x
: L oW

6>< 5 =30
6 x8=48

8 x3=24

4x Y =16

| 60

7x10=_10 x7

} x12=12.4
0x100=_¢48

= b

5

8 ><‘7'='5 6
Ix 6 =5

L
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. (b)! H.““l“"ﬂ

DOth‘:—‘sesums in'your ho"tebook
Qx4 b)15xg
3)45%6 . (h)57x3 (@18x5 (e) 23 x 4
5x6 - i 34 %6
, )49 x 8 " ) 6axo i, o (f) 34 %
| SR (1)92x8
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) Tadal) Aguasit dn
' y S 0f 8 squa 'gi'( S
oW 10-ny sq114 e does have 4 Ha choprboasel
el = LYy ﬂ%”“jﬁ/&}lpg

A toy needs 3 batteries. How 3__@:0 g _L—ée&{ WA;&&E@CW_

‘ Many batteries are needed for , o &
' neida - KK3
6 of these toys? S “f:'ﬂ)_\. 2

=~ \4 Loi‘ék@"zxf?

————
———

N Q—‘i' ' |
T Chidban il ideam -1y
T Childun inq 4eam <tix 4

Vf)v(
=S

A CD box holds 12 CDs, How - 1 Qo Rl 2 (¢
many CDs will 8 such boxes have? PR WA =8 x| 9

i “6chy

S In your notebook.

piece of squared paper. The piece has 11 ro

ws and 9 columns of squares.
7 squares does it have inall? qq , ».

x has 16 fubes of paints. Holwﬂv'many tubes will 5 such boxes ha;ikefl?;ﬁ o
4 hours. How many hours does a week haye? 168.
0l was closed for 45 days for summer holid

/ lays. Every day she did 6
many sums did she do during the holidays?' 37 0 N
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A

Masdtiplying 2-digit Numbets by 1-digit Numbers

A TR r -y :','», 2 T 0 }" er; 20

4 Q " 929 / : s‘ ‘9 6 4+20=24 i
g AR = AD g " 5 Write 4, a
D4 f; Wiita 5, | S ¢ arry 7 thy ouse i

. 5 [ YA B x
l,.r( l \ a4 \// !. ‘vdvaO i /;' oL rh f’) W J % 2 2 > ‘:
\ PR, _ i

X 78

Fg
qs, :g s,  Lxerclse 71 ’—-7

307

(€} Z EE{

1872

G 606

X 6
3638

(a) >< 3 & (b) 423x4  (572x5  (q) 182 x 6., (@641x4 (g o
| 64
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B i1y
L(a); 84 x10 = ga;}
(6) 342 x 10 =3hﬂ

) 7x40= 280 |

@)7x100= 700 |

(e)[ 40 x 100 = Z(oocj

.'i)Ls «500 = 100 d|

) 13 % 300 =3 |

(@ zzros on g

Him ﬁ(),h’); ’ "

PUt 12er0 on thye

right of the Producy
of 205 and 3, 3

s

—J

%D

\ — Exerclse 7E

®)|62x10= G2o| (©
(ﬂ{iOwa:éogci (8)
(j)[12x20=3\qo] k)

(c)
(8)
(k)
(0)

(b)Lzs x 100 = Qyﬁ
(f)
()

(n)l 14 x 500 =000

65 x 100 = 6500

7 x 900 = $300

|2 x 1OOO'=2060J (b)[4 x 1000 = t(ocer (©)

[3x 2000 = §ove| | ()

[2x3000= dov| (g

67

TN ‘a,;;"ﬁ;"‘,wrr‘fi; o

T —_
savne ot Ehe plghel &
i (A4 v &

’ AV 4 Ay

Put 2 2eros on the
right of the product |
of 12 and 2. i

13
%200
d05¢ ¥ ) |

LY I
)

2 ‘\“m‘%

96 x10= G40 (d)\123 10 = \.230\

3x30= 90 (h)[4><50= L@o\

15x30=USO (l)\ll x90=qctO\

10x 100 = looo| ()87 x100 = 8700|

5x300=1500| (W|9x600= Shoo|

14 x 200 =3B 0o| (1) l12 x 400 =L(%O’O\

15 x 200 =3000| (p)tlS x 600 =9 007|

6 x 1000 =42 w] ()9 x 1000 =C{mro§

4 x 2000 = 5000} (h)[2 x 2000 =Ygo0.
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[ ultiply 28 by 23,

2-d
igit Number x 2-digit Number

- a

i‘ 23 = 2 tens + 3 ones = 2() +3 H 1 g 0 ’).f;p v ()?'.f:f.-.’. /!i ;7, “ HTO
& 23 = 28 x 2 tene 28y tons: 28y 207
:  c =28 x 20 :13 +3 Ones X ; {: g :\,/M ;v: f;»-:jpm./chjmte. X i i
E = ‘.8 x 20 4+ 28 x 3 L1 8“[{~ ‘AL@, you can think i) 8 4
f =G 4 84 ® 540 26 x 2 tans = 56 tens ® 56
= 044, ® i = 5 hundreds and © tore,
644 and write as shown > © 644
Cs
tﬁzcm[so i N T
Multiply.
: xii o 14i © Castigr) () (DS @ 34
Xx13 i
3 % _ffi§§ 4 BRI o s 170
T Adad ) P96 23X 68
13 3 2) &S 6 34s gso

0 22) © e

| | 56 0 g @ (@Bggr) 0 8 4
5;195 %32 x 43 ' x 45 x 6 8
U2 X 148 x (S X Qo yX Soy X
| | 492 ‘ ;

Jo these sums in your notebook.

)11x22  (b)23x31

1) 25 x 14 (b) 36 x 17

)28x36  (b)49x 32

()33x13  (d)43x12  (e)32x23  (f)21x 34
(c) 57 x 18 (d)67 x24  (e)75x 36 (£ 23/x 2¢

(V6649 ()82x56  (€)97x21 . (F73x6
69 |
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3-digit Number x 2-digit Number

I

! i Multiply 324 by 28,

LR @ 524 x ones: 224 % & 3 24

; g @ 524 x tens: D24 x 20" x 2 8 :

: X 2.8, @ Add the two products. o 5—5"5'5

@ 6480 "@: 324 % 2 tons = H6AL Lens, 6480

(3] m = 6 thousands, 4 hundreds ® 9 0 )

and & tens, as shown-——>. T
Multiply.
e ] 2 >< 13f v ‘>< 14 X { e 2076

Vi oA, LUy
2 6 1Y 71X
ST GLEET
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5 (ﬁ,}dﬂ?ﬂ sent .20 Nm‘?

Year o " ¥.
& 7 y = % ¢ " H i % -T = 5 4 Y
o many cards did ghm, 3 _m;"dﬁ Cach. T80 ALE LS [ M X
5 e ; ’"‘} a’i?’ > ” ] p:’ F & s A .‘
,_é{{; i

If A packet has
Yalloons will 2

‘Rz lya,,(w}ngl h("‘"—' man‘d;:‘.‘ } "", "' A ,* j - i\\ Y 19' ’) ™ ‘ :‘j
4 such packets have: Pl ) aav a dim 34 Vachil s

has a dozen (12) eggs
0 35 such boxes have?

A man buys 36 bananas for his monkeys
o every day. How many bananas does he
i buy inamonth (30days)? <" Al day man B

Z}}\zodf;)yﬂ A " » 4'\‘?@ t4

Foxmk:

- '3 30 Qd‘rxma ak
A

.

e

I ¢ by : A A *i . {cl‘.{f}f{.{ |

Jd/\ 2 2§ Bararat

i
1
|
i
|

ums in your notebook. —

irt beats 72 times a minute. How many times does it beat in 60 minutes?y 320

has 24 hours, how many hours does a month h

ave?7 9 «

tment block has 186 flats. How many flats will 8 such blocks have? Jysg fi j
ivers 150 packets of milk every - . o o
g packets of milk every day. How many packets does he deliver J.E',Sf‘)
n reads 12 pages of the morning newspaper eve o @
he newspaper does he read in a year (gég days;gig;i' How many D0
R £ ()

"
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